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The previous version of projctle() required initial values as input and calculated final values.  This update allows entry of either initial or final values, or any combination of initial and final values, and also removes the restriction that the projectile start at (0,0).
Projctle() solves most types of projectile motion problems, assuming no resistive forces.  Choose from 3 different systems of units.  The initial position of the projectile can be specified as (xo , yo). The initial time  is assumed to be to=0.  The values of any 5 of the 9 quantities { xo, yo, vo, o, x, y, v, , t } must be entered, then the program solves for the remaining 4 unknown quantities from the list.  Only solutions with t0 and x0 are given.  Copyto_h(), by Samuel Stearley, is used to copy the solutions to the home screen so they can be more easily used in further calculations.

If you almost always use xo=0,  yo=0, you may want to edit the program, changing the first couple of lines from " xo" xo and " yo" yo to "0" xo and "0" yo.  If so you can also save a few keystrokes each time you run the program by editing the first dialog box, moving the Request lines for  xo and  yo to the bottom, after the Request for oIf you need to fill in a value or treat one of them as a variable, you can fill it in along with the other data.
For projectiles in a resistive medium, see Projdrag().

Place Projctle() and Copyto_h() in the same folder, then run projctle().
Ex 1:
xo=0   

yo=10 m  
 vo=40 m/s 
 o=30º  
y =25 m


Sol #1:  x = 106.93 m  
v = 36.134 m/s 
 t = 3.0868 s 
  = -16.53º

Sol #2:  x = 34.319 m 

 v = 36.134 m/s  
t = 0.9907 s  
 = 16.53º

Ex 2:
To find maximum altitude:

xo=0  

 yo=10 m  
 vo=40 m/s  
o=30º 

  = 0º

Sol :  x = 70.624 m  
y = 30.387 m  

t = 2.0387 s   
 v = 36.641 m/s  
Ex 3:
To find horizontal range:

xo=0   

yo=10 m  
 vo=40 m/s  
o=30º  
y = 0


Sol :  x = 70.624 m  
y = 30.387 m  

t = 2.0387 s   
 v = 36.641 m/s

Ex 4:
xo=0  

yo=10 m  
x =250 m  
 y = -5 m    
o=30º

Sol :  vo = 50.649 m/s  
v = 53.475 m/s  
t = 5.6996 s  
 = -34.89






